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Backup

BHLUMI

Both e”.ande™ in ONE TWO NONE

(mm) PHOTON | PHOTON

o(nb) 923 20<r -and. |y| > 20 7.97 0.22 122.91
287.31 131.11 (6.08%) (0.17%) (93.75%)

o (le) 240 20< r .and. |y| > 20 1.35 0.04 18.17
41.49 19.56 (6.91%) (0.20%) (92.89%)

plot
plot
plot
plot
plot
plot

the scatter
the
the
the
the

the
g40 slalefale]ale]age]e

] tOta] number Of 9uenta : 18000000 .000000000000000
: total cross s L i 382.577777244586741
(5] 16
H: 08@4444

cr :
0100000000 IODDD[Rad]
: Be -|-|-|-|-|-|-|[R3d]
ne»entl cutl : 37. fthi < theta
ne»entl_cutz : 48626 B slelelelele]e ri
neventl cut3 : : B peeenes  (e-: y )
neventl cutd : . ¢ 0068 f y y| = y2) cut2

(tht =<
QeRae
plelcinie]
QERaE
DO E0E L
geee (e+: r2 = 3
@08 ONE photon can be o
@0 TWO photons can be o
000800 NO photon can be observed.
788134[nb]
2z F82858697[nb]
Section 3 : 43 G‘lz;4z140[nb]
ection 4 29

neventl_cuts £ pee ooeee  (e+: r2

neventl_cut6 : 28: 3 pEEEEE (e+: r2 |yl yl = y2) cutd
neventl cut? : 79.000000 PEEE ONE photon can be o red.

neventl cut& : 8 B.GGGGGGGE pe TWO photons can be obse

0e0 NO photon can be observed.

ection
Section
ection 1.
ection : B, y k 36819[nb]
Cross Section .1665909791260828[nb]
Beam Lab : le 50145?53808g105 0.000000000000800, 1@@@_444444444444444]

'-D 00~ O LN = N

; 389763[nb]
Beam Lab : (16. ‘0149”_38082105 0.000000000000000, 1000.000RAAAARARREREER)




Backup

@92.3 GeV

CMS generated | e~ .or. €T to pipe Single ¢~ in Both e~.and. e in
Thl, Th2 (mRad) centers (mm) (mm) (mm) (mm) (mm)
10 to 80 10<r |y <80 | r>20 .and.|y|>20 | r>20 .and. |y|> 20
a (nb) 1172.45 1217.45 217.20 137.46 140.74 131.21
10 to 80 10<r |yl <80 | r>25 .and. |y|>25|r>25 .and. |y| > 25
o (nb) 1172.45 1217.45 133.42 82.20 85.89 78.08
10 to 120 10<r|y <120 [ 7>25 .and. |y[>25|r>25 .and |yl>25
o (nb) 1181.94 1226.98 144.59 91.34 96.94 87.18
CMS generated | e .or.e” to pipe ' Both e".ande™ in
Th1, Th2(mrad) centers (mm) (mm)
o (le) 10 to 80 10 <, |yl <80 20<r .and.|y|>20 20<r .and. |y| > 20
1172.45 1242.98 290.26 137.20 287.31 131.11
o (le) 10 to 80 10 <, |yl <80 25<r .and.|y|>25 25<r .and. |y| > 25
1172.45 1242.98 178.70 81.98 170.73 77.99
o (nb) 10 to 120 10 <, |yl <120 25<r .and.|y|>25 25<r .and. |y| > 25
1181.94 1252.38 189.81 91.13 181.88 87.05
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Backup

@91 GeV (BHLUMI)

CMS generated
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Backup

@240 GeV (BHLUMI)
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Backup

@92.3 GeV

CMS generated | e .or.e" to pipe Single e~ in Both e".ande™ in
Thl, Th2(mrad) centers (mm) (mm) (mm)
thl =0.01, o (nb) 10 to 80 10 < 7,]yl < 80 20<r .and. ly|>20 20<r  .and.|y|> 20
th2 =0.08 or 0.12, 1172.45 1242.98 290.26 137.20 287.31 131.11
thmin = 0.7* thl, o (nb) 10 to 80 10 < r,|y| < 80 25<r .and. |y|>25 25<r  .and.|yl> 25
thmax = 2*th2 1172.45 1242.98 178.70 81.98 170.73 77.99
o (le) 10 to 120 10<r,|y] <120 25<r .and.|y|>25 25<r .and. |y| > 25
1181.94 1252.38 189.81 91.13 181.88 87.05
ReneSANCe | CMS generated | e”.or.e” to pipe ‘ Both e”.ande" in
Th1, Th2(mrad) centers (mm) (mm)
th1 = 0.007, 10 to 80 10 <7,|y| < 80 20 d. |yl >20 20 d. |yl > 20
o o (nb to <rlyl < <r .and.|y|> <r .and. |y| >
ghmm 3;1/2 i) 1223.68 1333.88 351.78 172.22 33031 156.61
thmax = o (nb) 10 to 80 10 <7,lyl <80 25<r .and. |y|>25 25<r  .and.|y|>25
1223.68 1333.88 225.85 106.96 21131 96.64
o (nb) 10 to 120 10 <, |yl <120 25<r .and.|y|>25 25<r .and. |y| > 25

2025/7/15 1240.96 1351.72 242.87 121.11 228.46 110.69



Backup

@92.3 GeV

BHLUMI | CMS generated | e .or.e" to pipe Single e~ in Both e".ande™ in
Th1, Th2(mrad centers (mm mm mm
9
th1 = 0.007,
th2 =PI /2 o (nb) 10 to 80 10 <r,|yl <80 20<r .and.|y|>20 20<r .and. |y| > 20
: ’ 1171.55 1241.93 290.17 137.32 278.17 131.13
thmin = thl,
_ o (nb 10 to 80 10 <r,|yl <80 25<r .and.|y|>25 25<r .and. |y| > 25
thmax = th2 (nb) 1171.55 1241.93 178.69 8196 170.75 77.92
o (le) 10 to 120 10 <r,|y] <120 25<r .and.|y|>25 25<r .and. |y| > 25
1182.88 1253.27 190.01 91.26 182.06 87.12
ReneSANCe | CMS generated | e”.or.e” to pipe ‘ Both e”.ande" in
Th1, Th2(mrad) centers (mm) (mm)
thl = 0.007, o (nb) 10 to 80 10 <7,|yl <80 20<r .and.|ly|>20 20<r  .and.|y|>20
thmin = thl, 1223.68 1333.88 351.78 172.22 330.31 156.61
thmax = PI/2 o (nb) 10 to 80 10 <]yl <80 25<r .and.|ly|>25 25<r  .and.|y|>25
1223.68 1333.88 225.85 106.96 211.31 96.64
o (nb) 10 to 120 10 <, |yl <120 25<r .and.|y|>25 25<r .and. |y| > 25

2025/7/15 1240.96 1351.72 242.87 121.11 228.46 110.69
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